
1   　　に あう 数を 書きましょう。

① 6 × 1  のかける数が、１ふえると答えは

 ふえます。

② 4 × 8  のかける数が、１ふえると答えは

日にち：　　　月　　　日

名まえ

 ふえます。

2   　　に あう 数を 書きましょう。

① 2 × 4  と 答えが 同じになる、４のだんの九九は

4 ×  です。

② 6 × 2  と 答えが 同じになる、２のだんの九九は

③ 8 × 9  と 答えが 同じになる、９のだんの九九は

2 ×  です。

9 ×  です。

6

⑥ 定着



1   　　に あう 数を 書きましょう。

① 6 × 1  のかける数が、１ふえると答えは

6  ふえます。

② 4 × 8  のかける数が、１ふえると答えは

日にち：　　　月　　　日

名まえ

4 × 2  です。

4  ふえます。

2   　　に あう 数を 書きましょう。

① 2 × 4  と 答えが 同じになる、４のだんの九九は

③ 8 × 9  と 答えが 同じになる、９のだんの九九は

② 6 × 2  と 答えが 同じになる、２のだんの九九は

2 × 6  です。

9 × 8  です。

6

⑥ 定着 答え


